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I if x#2
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F;” #“'Lh label all ’3’;Wt'efce-?1'5- and x-l'nf'e'rcefrl‘s.

® \ Yoint: -4 (o142 =2 @ s
F 4 L-int: ol s22p 5@)‘!_3(0)7;'7(0)‘_27 =29
"‘tl =_2
==-2
X oy lé
4
5x*-3x%172427
= Wkl
@ / ex_,j @ \
7 NCY
_____ E e 2 o e . _
3.}!\#‘- 80-3 :l-S:-z - i i
Z-nt: oX.3 =0 Y-int: -2 J1+2 =43
e*=3

@ Solve for x if I2x+!]<5'
-5<22+1<5
<2y ¢y
~R LD

@ Solve fo = it ’3"'1"344]_
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ety <=2

“U o -2
ik S ;

I:»x:»'/z



Linear Alﬂgbm
D det (3 f,) = (3)-()2) = -3-2 25
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_ Weite the ‘po”ow?arﬁ sysfem o“l ezuaﬁonr

X rlp -2 =0 -1 2 -1\ (X 0
-2x+2'3—2: ‘ -2 2 - ’a =)
bl M & 1 [4%f

@ Solve  for ch ard 2 3 the dbove system. [lse that

~1 2 =1\~ | -1 0 :h[Z’m\AES
<-z 2 -l :(—-I 2 |

5 = i -4 5 2

X _1 2-N\-1/o 1 -1 o\ /o EN0) el
(“&):(-z 2 -:) (l); <-: 2 1)(: ):(@(0*(0(—03: (')
2/ \3- 1) \71) \*45 2/\-1/) \BWO+Q) 3



C'neck;nq your work
P

@ IS X = es/-'- X so/uﬁon +o +the ezuaﬁcm
loge (x*) ~log, (x)-3=2 7

103&«6%)4) " ’°je(e%> -9 /oje (ez%)—kje(e%)ﬁ

" 5
= 20/ .34 -3
4 . -
Yes, xz¢™® is a 2 204 . 5 - ¥
so]ution. - 20-5-9 i g/ i
3 T3 ‘2

@ IS xr-“loje(?.) +3 a Solu.ﬂon “+ao 'H're ezua‘i'i'on

461'3 -3 ?

% (1036(23*3>— 3 - Lfe/oje (Z) _

e Y4(2)=9.

ch( JL:}OjQ(ZBi-B is a solution.

f_._i S‘f‘u&yinj o litle often is better than sfu&)/inj a lot once.



